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AT 22 4,926,717 9,214,512 AN4,287,795
Ay L ZAM>T (M-S MSSESH) 4,926,717 9,214,512 A4,287,795
el 2F X 1,486,760 1,442,960 43,800
201 L2l 1,466,960 1,442,960 24,000
01 At 22l 63,360 63,360 0
0 XA E8E dMAZE 7Y
333,330& » 12& 4,000
0 Mot Ze|tHel ==2  666,660& * 12& 8,000
0=z XM M
60& * 13,0002 = 128 9,360
0 =ZZM =2 3,500,000 * 12& 42,000
02 22224l 1,403,600 1,379,600 24,000
0 29 Ra 87,000,000& » 12& 1,044,000
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o Jl23 76,5603 * 19 x 247 18,911
o FRYE 76,5603 * 1H » 52 3,982
o AXlREFd==Y 76,560 * 1% = 11 843
o gYaRsg
76,5603 * 1.5 x 1H » 67 7,695
o ZUAZIREHZ 31,431,000& * 4.5% 1,415
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31,431,000& * 3.495% 1,099
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o AEXIF(2.0km) 300,000
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eI 2l 1,148,762 1,137,342 11,420
101 @124 H] 1,148,762 1,137,342 11,420
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